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9. Ifj'_l] e”"zdx=k, then Ii e“"zdx=
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3. If j:f(x)dx=a+2b, then j:(f(x)+5)dx=
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15. The area of the region bounded by the lines x=0, x=2, and y =0 and the curve y =e? is
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22. An antiderivative for o oead M(& "\' i S ) d\&
A) —(x*-2x+2)7 I + M,z
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13.

The region bounded by the x-axis and the part of the graph of y =cosx between x = —g and
x=2is separated into two regions by the line x =k . If the area of the region for —g <x<k is
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three times the area of the region for k< x < > then k=

e . (1
(A) arcsm(z) (B) arcsm(g

) \{‘:.Q\V\X . ‘/
(D) 2 (E) 3 Q‘
)
-.'-l-L

A
T ‘




2/28

2. If j_zz (x7+k)dr =16, then k =
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